NSLARNNTYNUIAET

fa: Fusi: ATLUL:
41222 +35x=0 30— 19x% — 52x+ 96 = 0

7 — 4357 + 82x— 48 =0 560+ 34x% + 27x— 90 = 0

X+ 9% +6x—56=0 X+ 7 +10x =0

27 — 17— 15x+ 54 =0 X =27 —55x+56=0

© 452 - 52x—224=0 202 + 9% —2x— 24 =0
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X+ 127 +35x =0
x=-5,-7,0

T — 4352+ 2x— 48 =0
8

xX= =,

7

3,2

X497 +6x—56=0
x=-7,2,—4

203 = 17x* — 15x+ 54 = 0

x:

, 72,9

oW

X457 —52x—224=0
x=7,-8,—4

Jun: ATLLUU:

3¢ — 192 —52x+ 96 =0
4

x=-,-3,8
3

50 + 342 +27x— 90 = 0

x:

, 73,75

X+ 7¢+10x=0
x=-5,-2,0

X =2 —55x+56=10
x=1,8,—7

20 + 9% —2x—24=0
, 42

Do | W
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